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BRI 5,983, 158
BHE - FE - AEEEH 5,983, 158
BIEHEERNEES 5,983, 158
BHE - R - REF 5, 861, 000
HIEES 386, 800
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% g i - AKSTiE B B 2 B i & & w ZE
BRI 5,861,000 + 122,158 5,983,158
BEEAGE 5,861, 000
E#ERE 122,158
T DAt 5,861,000 x 53.85% ( 35% = (1 — 35% ) ) 3,156,148
BRI 5,983,158 + 3,156, 148 9,139, 306
—REBRES 9,139,306 x 53.85% (35% + (1 — 35%) ) — 822 4,920, 694
KB 9,139,306 + 4,920, 694 14, 060, 000
HBETEALE 14,060,000 x 10.00% 1,406, 000
EBREH 14,060,000 + 1,406, 000 15, 466, 000
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A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
e (B)
A 1.00 41, 600. 00 41, 600
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AR (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.50 41, 600. 00 62, 400
AR (C)
A 2.50 32, 800. 00 82, 000
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A 2.00 29, 000. 00 58, 000
& B 1EZBER - 1.00 279, 200. 00 2179, 200
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A 1.50 58, 600. 00 87,900
HEm (A)
A 1.50 51, 200. 00 76, 800
HER (B)
A 1.00 41, 600. 00 41, 600
A (C)
A 2.00 32, 800. 00 65, 600
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A 0.50 58, 600. 00 29, 300
HEm (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41, 600
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A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
A (C)
A 1.00 32, 800. 00 32, 800
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T ERER (G5
A 3.00 58, 600. 00 175, 800
AR (A)
A 3.00 51, 200. 00 153, 600
AR (B)
A 4.00 41, 600. 00 166, 400
AR (C)
A 4.00 32, 800. 00 131, 200
& F %8N - 1.00k 627, 000. 00 627, 000
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AR (A)
A 3.00 51, 200. 00 153, 600
AR (B)
A 3.00 41, 600. 00 124, 800
AR (C)
A 5.00 32, 800. 00 164, 000
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A 1.50 58, 600. 00 87, 900
AR (A)
A 2.50 51, 200. 00 128, 000
AR (B)
A 2.50 41, 600. 00 104, 000
AR (C)
A 2.50 32, 800. 00 82, 000
& &t %8N - 1.00k 401, 900. 00 401, 900
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A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
& it {EZ8ER - 1.00mE 109, 800. 00 109, 800
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A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
& B {EZ8ER - 1.00E 109, 800. 00 109, 800
H5 :12
B =RBRBE 1EHY
£ 7 R - KT By = B Of | 1 B &
HEnR
A 1.00 66, 900. 00 66, 900
F{EHED (55
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
& it {EZ8ER - 1.00E 176, 700. 00 176, 700
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A 1.50 58, 600. 00 87,900
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